H & 0l & AHS B Ml A

FA 32SA
M ZESAEY =
ol Nsd2s =& gd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JESA 3,888,063 3,624,302 263,751
= 800,000
== 60,000
Al 3,028,053
ZESAE = 3,776,009 3,525,241 250,768
= 800,000
< 60,000
Al 2,916,009
NsEEst == & 1,194,742 170,397 1,024,345
= 800,000
== 60,000
Al 334,742
MBI HE5 W= 68,994 18,264 50,730
201 2= 16,094 12,504 3,590
01 AtR2t2lt] 12,590 9,000 3,590
ONRIBSSINSY 2Y+8H|
382,500 122 4,590
OAEEuFE Wi bl
8,0002!%1,0002 8,000
02 S3=gHl 3,504 3,504 0
OANEESNEE WSEHl =7Xl2
3,504,000 *14] 3,504
202 04l 4,800 5,760 A960
01 SLHoIH 4,800 5,760 2960
OAEIEEs HRFA 0y
400,000 12& 4,800
405 KHoHF S| 48,100 48,100
01 ML ESFSHI 48,100 48,100
OAIEZst WS PC X 2LIH (1)
1,300,000 *37CH 48,100
SR8 2= 2,505 0 2,505
201 2= 2,505 2,505
2 S5=2g4l 2,505 2,505
O=RH 23 usE wsIHl FA2c
2,505,000 14 2,505
SHOIX 2 120,483 152,133 A31,650
201 er2 3| 92,483 122,933 /30,450
01 AtR2telHl 1,400 4,000 A2,600
OZHOIX &A2Z8= 2
1,000,000 *14] 1,000
OSHIOIXl MBIE2 QISMH daZ
200,000& *14] 200
OR2HIY HAEN 2elXHE dal(1E)
200,000 *14] 200
02 S3=gHl 91,083 118,933 A27,850




FA 32SA
M HESAY 3
ol Nsd2s =& gd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSSOl &0 MHIA 0I8E
3,500,000 *14] 3,500
Onlg AlE= 30,0002 %14 30
O&HOIX S X2l (SE)
87,553,000 * 14| 87,553
202 04l 6,000 7,200 21,200
01 2LHoIH 6,000 7,200 1,200
OSHOIXN2g 2= 0l
500,000 * 12 6,000
207 ARl 22,000 22,000
02 MAHHEH] 22,000 22,000
OSHI0IX IS 22,000,000 * 14! 22,000
A0EERE A= 1,000,000 0 1,000,000
[ 800,000
= 60,000
Al 140,000
403 MR HSAE01H 1,000,000 0 1,000,000
[ 800,000
= 60,000
Al 140,000
02 SISOt =22 P EF A I 1,000,000 0 1,000,000
OADIEYRIX 28 ¥ 2HHANEZZE
=E)) 1,000,000, 000214} 1,000,000
=l 800,000
= 60,000
Al 140,000
A0tEZZY 2oluet 2 2,760 2,760
201 Zet=3hl 2,760 2,760
02 S3=gHl 2,760 2,760
OADIEZZE SRS (AHY SHR)
230,000& * 128 2,760
ANsEEs I8t 7= 415,092 395,118 19,974
ANsELe?3s 23 1,260 1,260 0
201 2egh=3| 1,260 1,260 0
01 AtR2t2ltl 1,260 1,260 0
OXs8Est?as d4+g
70,0002 %9 #2353 1,260
STZEFN MESY 165,629 143,858 1,771
201 eer23| 185,629 143,858 1,771
01 AtR2t2|HI 155,629 143,858 1,771
OgRESM 2bI(1E AISH) 195,629
>etg ATEN 88,040 »880 K 77,476
[>AUTOCAD 2,089,000 +21H 43,869
Dotal AZEN 28,5702 +1,2000H 34,284




FA 32SA
M HESAY XA
& XNsd2s Jlg 2= (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AZESI0H(SN) DICHIHS M (=IHEEXIZ) 250,000 250,000
308 XHXIEMSOIH 250,000 250,000
11 SIS0t AAS A 250,000 250,000
OXZERUON(SH) IS AeS
250,000,000 * 14 250,000
ANSE 212 =ZAE SEACALE 22 8,203 8,203
201 et 3| 8,203 8,203
02 S3=gHl 8,203 8,203
OXsE 272 =T AL SE2CAIAE
sXI2el (HW) 677,000 14| 677
OXsE A2 =AM SE2ACIAAE
SXI2el(S/W) 7,526,000 *14] 7,526
HHFE 5 Dtz 902,364 1,635,534 AT733,170
HHHEAAE 29 427,490 14,638 412,852
201 er23| 270,490 14,638 255,852
01 AtR2t2|HI 61,000 0 61,000
OWARAE SS2CIAAE 2
61,000,000 *14! 61,000
02 35244l 209,490 14,638 194,852
OB 2MAHIA OIZ22(HAH, SaA)
410,00024 122 4,920
ORMAIASA FH| RA22
500,000 * 12 6,000
OIPILEE AIEZ 50,0002 122 600
OHHEEAIAH SERAES
197,970,000 * 14| 197,970
405 AHaHE = 157,000 157,000
01 ML ESF SHI 157,000 157,000
OS8 JIABIAIAE 2%
157,000,000 *14] 157,000
20t A)|s tHHlZEt 8,000 48,602 A\40,602
201 fer= 3| 8,000 14,062 26,062
01 At 2|l 8,000 7,000 1,000
OlsA AHE HAS/N F(1E AHER)
400,000 x200H 8,000
AZT SSIIBAIAE 29 165,899 208,683 AN42,784
201 Ler23 | 39,899 82,683 N42,784
01 At2teltl 2,000 2,000 0
oy 225 +Y 2,000,000 *14! 2,000
02 S3=4gl 37,899 80,683 N42, 784
OdXAE T SUHE ASAHHIA 0182
500,000 *14] 500
OMSZEEAIAE 2X22l(S/W)
23,625,000 * 14! 23,625




FA 32SA
M HESAY XA
Chel: HZEZES JIgH=ASt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSSHIEEE Lel0IAAE FX2el
6,262,000 *14] 6,262
Oe-XtZ 2O0LAIAE S/W | XI2tel
7,512,000 * 14 7,512
308 AXIHMSO0IA 126,000 126,000
11 SI2S0 e YA AS A 126,000 126,000
O38718t & Mol SFAIAE FX 2l
119,000,000 * 14| 119,000
OXNLHISSIZAIAY MHIAUAT 2
2 7,000,0002*14] 7,000
JIEE 22l 24 119,080 129,100 210,020
201 fer= 3| 114,280 121,900 AT,620
01 AtR2tc|HI 106,480 114,100 AT,620
OARE 7Y 0152, g2tal)
2,000,000& 128 24,000
0JI=2 45 U %41 S 7Y
10,000,000 » 14 10,000
O2AM(2E2) M&E4
60,000,000 *14] 60,000
OHIPDIE= LIHES
6,600,000 * 14 6,600
ORIz &o+¢ 5,880
DEERINACIAS A
70,0003 x4 »203] 5,600
PIISSEIIRIAE 4+
70,0002 x2H *23] 280
2 S52g4l 7,800 7,800 0
OFd 2NEsS 282
200,000 122 2,400
OAIZEHl SRABIOISST e A, &
2Hal) 450,000 12& 5,400
202 O4H| 4,800 7,200 2,400
01 2K 4,800 7,200 22,400
OJI=2el2d gF=d ol
400,000 <123 4,800
HTESMAAE 2 125,352 678,529 AB53, 177
201 er23| 16,752 66,189 N50,437
01 At2tltl 5,100 43,100 38,000
OF=Al BN £F4 2L
5,100,000& 14] 5,100
02 S3=gHl 10,652 23,089 A12,437
OJIS2 SHOIXl FXI2el
2,696,000 14! 2,69%
O2-LIztAIAE 222l (SN)
5,580,000 * 14 5,580
OMIZRIAIAE SKI22l(S/W)
2,376,0002 %14 2,376




FA 32SA
B ZosiAle 2
Chel: HZEZES JIgH=ASt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 109,600 78,500 31,100
11 SIS0t oA AS A 109,600 78,500 31,100
OJIS2IAIAE |Xl2el
41,000,000 *14] 41,000
OSEZ0tAIAE SAI22I(S/M)
5,600,000 *14 5,600
O2-LItAIA” MHIAOIAT 28 & &48S
W X2 63,000,000 * 14| 63,000
el 25t 56,543 90,982 A34,439
201 Ler23| 56,543 90,982 A34,439
01 At2teltl 3,000 41,000 /38,000
ONeIE2EsS 2225 7Y
3,000,000 %14 3,000
02 S3=gHl 53,543 49,982 3,561
ONEEES HHAMALE
16,000,000 * 14! 16,000
OS2 QHUSBAIAEY K22l (S/W)
5,001,000& 14 5,001
OMeIEE HEI|S2ALAIALE SKI=2l (SN
) 13,018,000 x 14 13,018
OPCHRIEEE S AIAE 222l (S/W)
6,420,000 * 14 6.420
OHEAOIIISAIAE X2 (S/W)
13,104,000 » 14 13,104
ESHAIE Qlzet &5t 1,263,811 1,324,192 60,381
dYHLE SHL =9 568,800 775,400 A206,600
201 er2&y| 565,200 771,080 A205,880
02 S3=gHl 565,200 764,880 199,680
OtolHaIdE(Ed, 185, S42)
31,200,000 ~12& 374,400
OdzArEZ (2EHY, &)
11,000,000& «12& 132,000
ORI (ASL)ZIE AISE
800,000 * 12 9,600
O2XHBIAXI(SMS) AtEE
4,100,000~ 128 49,200
202 04| 3,600 4,320 AT20
01 =LHO LI 3,600 4,320 AT
OHFYFESA JRFX 0t
300,000& * 122 3,600
Y SAAI4 - FHl =X2c 293,809 196,428 97,381
201 fer23| 154,149 163,428 N9,279
01 AtR2t2|HI 12,000 0 12,000
OgdsuY =A&e 225 7
1,000,000 «12& 12,000
02 s3=gbl 142,149 163,428 A21,279




FA 32SA
M HESAY XA
ol FESAAE olTet D&t (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OIPTAIAE = Xl2tc 49,701,000& x14] 49,701
OBZAIAE X 2| |RA2e
46,957,000 * 14 46,957
OUERDEHl RAl2el
10,474,000 * 14| 10,474
O S HEHI(VPN) |A2el
21,177,000& »14] 21,177
Oga22dAIAE FX2el
3,100,000& %14 3,100
OB THAA A A X 2t2] (S/W)
5,940,000 * 14 5,940
ORHEEHRAZEXI(PS) Rz
4,800,000 14] 4,800
401 A& HIX R0 20,000 20,000
01 AlZH| 20,000 20,000
OFLHSAAIE 0l X 10,000,000 x22] 20,000
405 AtatE=H 119,660 13,000 106,660
01 TR =S FISHI 119,660 13,000 106,660
OlIp&E=E #¢ 650,000 *20CH 13,000
OL2 PoE AKX 7 1,263,000 *5CH 6.315
OROHAIOIE THERAIAES WA
99,535,000 x 14 99,535
OLQxH(z2E)(LHl) 270,000 *3H 810
SHAA 23 28,000 23,070 4,930
201 2= 2,200 2,200 0
2 Ss52g4l 2,200 2,200 0
OZESASAL AISHBAL = EH RA2
cl 2,200,000 *14] 2,200
202 04l 4,800 4,320 480
NETEE 4,800 4,320 480
OFBSATA MBSHAA 22T 0fH|
400,0002 12& 4,800
405 AtaHE = 21,000 16,550 4,450
01 M ESFH S| 21,000 16,550 4,450
OZESUSA AISEZA SEEH 2
21,000,000 * 14! 21,000
SIS elet 25 373,202 329,24 43,908
201 er23| 373,202 329,294 43,908
02 S5=2g4l 373,202 329,294 43,908
OSE2A0ILt0l I e =
363,202,000 * 14 363,202
OZ320I1T0] OId & X
10,000,000& * 14! 10,000
HY2AIH(FESHD) 112,044 99,061 12,983
QIH2HH(FESAD) 73,940 69,373 4,567
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